RESOLUTION OF THE TOHONO O'ODHAM LEGISLATIVE COUNCIL (Approves Head Start Program FY 2008 Budget Amendment/Modification 2-Account #11-1218)

RESOLUTION NO. 08-482

1	WHEKEAS,	the Tohono O'odham Nation through the Head Start Program has been successfully
2		providing services and assistance to eligible Tohono O'odham children and families;
3	<u> </u> 	and
4	WHEREAS,	the Head Start program, through the Grants and Contracts Office has received the
5		allocation of \$1,624,070 for account #11-1218; and
6	WHEREAS,	the Head Start Program amendment/modification #2 adds a new line item 860 Special
7		Activities budgeted at \$20,588.34; and
8	WHEREAS,	the Head Start Program amendment/modification #2 reflects a decrease in line item
9		610 salaries in the amount of \$8,892.80,a decrease in line item 620 Fringe Benefits in
10		the amount of \$6,401.40, a decrease in line item 661 in the amount of \$1,300, a
11))ı	decrease in line item 810 Professional Services in the amount of \$40,000; and
12	WHEREAS,	the Head Start Program amendment/modification #2 reflects an increase in line item
13		650 Tuition and Registration in the amount of \$2,000, an increase in line item 660 in
14		the amount of \$3,000, an increase in line item 710 Utilities in the amount of \$15,000,
15		an increase in line item 712 Gas, Oil, and Coolants in the amount of \$32,448.20, an
16		increase in line item 720 Supplies-Office in the amount of \$37,000, an increase in line
17	r	item 721 in the amount of \$19,000, an increase in line item 722 in the amount of
18	d	\$20,117.40, an increase in line item 770 RM Equipment in the amount of \$1200, an
19		increase in line item 771 RM Vehicles in the amount of \$8,000, an increase in line item
20		850 Food in the amount of \$62 388.40; and
21	WHEREAS,	the Head Start Program amendment/modification #2 by Executive Directive rescinds
22		line item 900 Indirect Costs Charges in the amount of \$148,854.00 and moves the
23) I	\$148,854.00 into Direct Costs charges; and
24	NOW, THER	${f EFORE}$, ${f BEITRESOLVED}$ that the ${f Tohono}$ O'odham Legislative Council hereby approves
25		The Head Start Program Grant budget modification/amendment #2 rescinding line
26		item 900 indirect costs and adding line item 860 Special Activities.
27	BE IT FINAL	LY RESOLVED that the Tohono O'odham Nation Chairman or Vice Chairman are hereby
28		authorized to negotiate and execute the budget provided that any amendment
29		affecting the funding or funding levels of the budget shall be submitted for approval
30		by the Tohono O'odham Legislative Council.
31 32		

	RESOLUTION NO. <u>08-482</u> (Approves Head Start Program FY Page 2 of 3	2008 Budget Amendment/Modification 2- Account #11-1218)
1 2 3 4 5 6 7 8	of <u>AUGUST</u> , <u>2008</u> at a meeting AGAINST; <u>181.1</u> NOT VOTING; an Article VI, Section 1 (<u>d</u>)(<u>3</u>) & (<u>f</u>) of Tohono O'Odham Nation on Ja	assed by the Tohono O'odham Legislative Council on the <u>07TH.</u> Day at which a quorum was present with a vote of <u>2,353.4</u> FOR; <u>-0 nd [04]</u> ABSENT, pursuant to the powers vested in the Council by the Constitution of the Tohono O'Odham Nation, adopted by the anuary 18, 1986; and approved by the Acting Deputy Assistantations) on March 6, 1986, pursuant to Section 16 of the Act of June
9	1	TOHONO O'ODHAM LEGISLATIVE COUNCIL
10	1	
11		
12		William Variable Chairman
13		Verlon M. Jose, Legislative Chairman
14 15		13 day of <u>Huyust</u> , 2008
16		$\int d^2 y$
17	ATTEST:	
18		
19	Your Side	
20	Lucille Lopez, Acting Legislative	
21 22	Lucine Lopez, Acting Legislative	secretary
23	M day of Mynat	, 2008.
24		
25	Said Resolution was submitted i	for approval to the office of the Chairman of the Tohono O'Odhan
26	Nation on the day of	f <u>fugust</u> , 2008 at 2.7 o'clock, 1M.
27	pursuant to the provisions of Se	ction 5 of Article VII of the Constitution and will become effective
28		failure to either approve or disapprove it within 48 hours of
29	submittal.	
30		
31	1	TOHONO O'ODHAM LEGISLATIVE COUNCIL
32		
33		
34		- Harrison
35	1	Verlon M. Jose, Legislative Chairman
36		ů
37	1	
38	.W	a le a adament
39	[X] APPROVED	on the <u>15</u> day of <u>AUGUST</u> , 2008
40 41	I I DICARDROVED	at IIIAA alalaah A M
41	[] DISAPPROVED	at $(1:00)$ o'clock, (A) .M.
42 43		
43 44		UCECHAIRMAN
44 45		WED NORRIS, JR., CHAIRMAN
45 46		TOHONO O'ODHAM NATION
TU		LUMBUR OF COMMENTERS OF THE PROPERTY OF THE PR

	RESOLUTION NO. <u>08-482</u> (Approves Head Start Program FY 2008 Budget Amendment/Modification 2- Account #11-1218) Page 3 of 3
1	Returned to the Legislative Secretary on the/5 day of
3	Mynt , 2008, at 11:75 o'clock, 1 .M.
4	
5	Grand Side
6 7	Lucille Lopez, Acting Legislative Secretary
8	lucine Lopez, Acting/Legislative Secretary
9	
10	
11	
12	
13	
14	
15	
16	
17	
18	
19 20	
21	
22	
23	
24	
25	
26	
27	
28	
29	
30 31	
32	
33	
34	
35	
36	
37	
38	
39	
40	
41 42	
43	
44	
45 46	
46	

ACTION: APPROVES HEAD START PROGRAM FY 2008 BUDGET AMENDMENT/MODIFICATION 2- ACCOUNT #11-1218

MOVED: COUNCILMAN TIMOTHY JOAQUIN SECOND: COUNCILMAN GERALD FAYUANT

DATE: AUGUST 07, 2008

DISTRICT	LEGISLATIVE REPRESENTATIVES	# OF VOTES	FOR	AGAINST	NOT VOTING	ABSENT
BABOQUIVARI 316.9	FRANCES MIGUEL (Absent) (Roberta Harvey) (Present) FRANCES G. ANTONE	158.45 158.45	x x			x
	(Vernon Smith)	100.10				
CHUKUT KUK	1. ETHEL GARCIA ()	132.40	X	}		}
264.8	2. VERLON M. JOSE	132.40	X			X
GU ACHI	1. TIMOTHY L. JOAQUIN (Louis L. Johnson)	113.95	x			
227.9	2. CYNTHIA E. MANUEL	113.95	X			
GU VO	1. GRACE MANUEL	99.60	x			
199.2	2. RAYMOND VICTOR	99.60	x			
HICKIWAN	1. MICHELLE ORTEGA	86.00	x			
172.0	2. SANDRA ORTEGA	86.00	x			x
PISINEMO	1. CHESTER ANTONE	91.20	х			
182.4	(Tony Murrietta) 2. GERALD FAYUANT ()	91.20	x			
SAN LUCY	1. LORRAINE EILER**	90.55			X	
181.1	2. GLORIA RAMIREZ	90.55			x	
SAN XAVIER	1. FELICIA NUÑEZ	98.25	X			
196.5	(Adam P. Andrews) 2. OLIVIA VILLEGAS-LISTON (Eileen A. Estrada-Lopez)	98.25	x			x
SCHUK TOAK	1. FRANCES B. CONDE (Absent)	77.30	X			
154.6	(Frederick Jose) (Present) 2. PHYLLIS CACHORA (Agnes Joaquin)	77.30	x			
SELLS	1.KIMBERLY LISTO	222.35	x			
444.7	2.EVELYN B. JUAN MANUEL	222.35	X			
SIF OIDAK	1. WAVALENE ROMERO	97.20	X			
194.4	2. MARY LOPEZ	97.20	x			l
	TOTAL	2,534.5	2,353.4	-0-	181.1	[04]